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Limits
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What if the function has different limit values from left and right side?
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Finding limits
While finding limits is a vast topic, we will cover basic limits only,to give
you a rough idea of rate of change calculations.
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Rate of change or derivative
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Finding rate of change of a function with 1 dimensional input
£ $O= x> Fed i%, -

o_% J {;L«um 4=
di, Ao 7

= Qe &+ —
Ao Q-‘-/g\/ = (% 69\-‘“}
Ja—=o N
= Qim Ao 2ah
M=o L
= Qn BLCATI
A0 G
= Qv L%
=0




A (Xm>:'n><'“"\
Some properties of derivatives 8\; & 8
5 — =0
ol g gy [
- 4 -
un 2 (£ = (4 x dut
= G ~@Gpae - (%) froduck

¢ d ()= 2(2) A
X dx(

dx
= ¢ * 0
= AX
fi) a x)) =
iy & (RgEd= R LGe)
* a 3N?’> = 3 )(?' = =
2 1?( %( Y= 3(2x) ¢ 6x
. 5 (™ =
%ﬁ(’(( 3>> ﬁz;é(gxs_;aijz
A6« 413

- M 4 34 (Xg>
T
=5y ' & 3 3xh)

=S¢ a Qx>



o\x («E c@ b@) Qs ~ %@9(3%_> ?\roM
4 ((3)) = (Xgmwmxa 362
"2?*4@)’ e e <<ﬂ )
(LD -2

= M 4+ Qx4 QY

— 5}(‘4,\-‘%("
uv)%(f@ = %@a& —~ gw% (@mex&
o
X342 5. d(x>+2) 3) d (xS
PA o2 = gk j)“);“
= )< *x (x =
)
X!O
— 37(—1 — gx"._\gx"‘
xt°
= X —\S5x" -~ —I5
F'«o ;(3 )(C

z-x 3By



Finding rate of change of a function with more than 1 input variable
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The exponential function
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The sigmoid function
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Session 2 Questions
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Session 2 Solutions
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